

## दिल्ली विकास प्राधिकरण उप-निदेशक कार्यालय, उद्यान खण्ड – तृतीय बी2बी, जनकपुरी, नई दिल्ली-110058



Dated: | S August, 2022.

No. F54 (28) DD/Hort.-III/2022-23/DDA/1186

To

M/s Pramod Construction Co. A-36, Sarai Extn., Adarsh Nagar Delhi-110033.

Name of Work: M/o completed Scheme of N/A-II under SWZ.

M/o Distt. Park B-Block Paschim Puri

Sub Head: S/S of Good earth, Jamuna sand, Digging of holes, S/o Plants, Neem Oil cake etc. at site.

PG Ref.: FDR/Bank Guarantee No. 912173 dated 04-08-2022 Amount Rs. 42,214/- from Union Bank, Ashok Vihar Branch, New Delhi-52.

Sir,

Your quoted item rates tenders for the above mentioned work has been accepted on behalf of DDA as under:

Estimated cost

Rs. 31,00,174.00

Contractor quoted Amount

Rs. 14,07,120.00

Accepted tendered Amount

Rs. 14,07,120.00 (Rupees Fourteen Lakh Seven Thousand One Hundred

Twenty Only).

Percentage of tender

54.61% below.

Time Allowed

60 Days.

The item to be taken for the purpose of clause-12 shall be 54.61% below on rates based on DSR-2020/Market Rates. You are requested to attend the office to sign the agreement along with non-judicial stamp paper worth Rs. 100/- within ten (10) days from the date of issue of this letter, failing, which the acceptance of tender is likely to be withdrawn and the earnest money forfeited. You are therefore, directed to contact the AD-I of this office and start the work at once. Please note that the time allowed for carrying out the work as entered in the tender still be reckoned after the ten days from the date of issue of this letter to commence the work. Your letter dated 06.08.2022 shall be part of the Agreement.

Copy to:

Dy. Director (Hort.) - III/DDA

- 1. Director (Hort.) NW, DDA.
- 2. Dy. Director (QC) III, DDA.
- 3. A.O. (W) II, DDA.
- 4. A.O. (CAU) Dwarka, DDA.
- 5. Dy. Dir. Hort. II, V, VIII & Dwarka, DDA.
- 6. Income Tax Commr. W No. New. Delhi.
- 7. A.D.-I, Hort. Div. III, DDA.
- 8. Comm. Sale Tax. NCT Delhi.
- 9. File Concern.
- 10. Agreement File. . .
- 11. DDA.website https://eprocure.gov.in/eprocure/app or www.dda.org.in or cppp-nic@nic.in

Dy Director (Hort.) - III/DDA

**Item Rate BoQ** 

der Inviting Authority: DELHI DEVELOPMENT AUTHORITY DY. DIRECTOR (HORT.) III

Name of Work: Name of Work: M/o Complete scheme of N/A- II under SWZ. M/o Distt. Park B-Block Paschim Puri.

Sub Head: S/S of Good earth, Jamuna sand, S/O Plants & digging of holes etc. at site.

Contract No: 011-25507273, NIT No. 30/DD/Hort.-III/DDA/2022-23 Name of the M/s pramod construction co.

Bidding " Firm / Company

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the

NUMBER	Bidder Name and				
SI.	IEXI#	NUMBER #	TEXT#	NUMBER #	NUMBER #
No.	Item Description	Quantity	Units		TOTAL AMOUNT Without Taxes in Rs. P
1	2	4	5	13	53
1	Supply and stacking of good earth at site by including mechanical transport royalty and carriage, loading unloading with all lead and lift. (Good Earth measured in stacks will be reduced for 20% payment)	372.00	Cum	350,00	130200.00
2	Supply and stacking of Jamuna Sand at site by mechanical transport including royalty carriage and loading unloading for all lead and lift.	118.00	Cum	800.00	94400.00
3	Supply and Stacking of Red Bajri at site including royalty and carriage by mechanical transport and loading unloading with all lead and lifts.	13.00	Cum	1000,00	13000.00
4	Earth work in excavation by mechanical means (Hydraulic Excavator)/manual means over areas (exceeding 30cm in depth. 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth lead up to 50 m and lift up to 1.5 m, as per direction of engineer-in-charge. 5 mtr X 4 mtr X 1.5 X 3 Nos.= 90.00 cum (Manure Pit).	90.00	Cum	1/20.000	10800.00
5	Supply of Neem oil cake in 40 kg packing bag at site.	20.00	Bag	500.00	10000.00
6	Supply of chemical fertilizer Neem coated urea in 40 Kg packing at site.	35.00	Bag	200.00	7000.00
<b>Y</b>	Digging holes in ordinary soil and refilling the same with the excavated earth mixed with manure or sludge in the ratio of 2:1 by volume (2 parts of stacked volume of earth after reduction by 20%: 1 part of stacked volume of manure after reduction by 8%) flooding with water, dressing including removal of rubbish and surplus earth, if any with all leads and lifts (cost of manure, sludge or extra good earth if needed to be paid for separately):				
7.1	Holes 90 cm dia., and 90 cm deep	150.00	Each	70.00	10500.00
7.2	Holes 60 cm dia., and 60 cm deep	800.00	Each	25.00	10500.00
	Providing of rose mixture at site	500.00	KG	7.00	3500.00
	Providing of bonemeal at site	10.00	. Bag	7.00	70.00
10	Providing of Plastic Hanging Basket Size 10"	400.00	Each	40.00	16000.00

107					
11	Providing of Plant				©.
12	Providing of Plastic Hanging Basket Size 8"	400.00	'Each	185 (010)	6000.00
13	Providing of cocopit	100.00	Bricks	G(0),(9(a)	
	Bamboo (25mm dia and 2.5m long)	50.00			6000.00
14	Providing & fixing of White River (Stone) Pebbles size of 2" to 2.50" dia in natural colour at site of work including loading, unloading, carriage and all taxes paid etc.and as per direction of officer in charge.		Score Qtl.	1616.635 2616.666.	500.00
15	Providing and fixing of Tuflex Garden fencing Hexagonal net/or equivalent of green colour having contents (Weight grams/sqm. 510 (+/-8%)) in width of 60 cm. with bamboo of 90 cm. length. The bamboo should be painted with green colour paint of approved brand and manufacture (two or more coats) and fixed 30 cm. below ground level and 60 cm. above ground level at a distance of 1.50 mtrs. The net and bamboo should be binded with 2 mm. On these	500.00	Sqm	180.00	75000.00
55 55)	properly as per direction of Engineer-in-charge.		=		
16	Supply of Tree Plants:				
16.1	Providing and stacking of Tecoma argentea of height 120-135 cm. in big poly bag of size 25 cm as per direction of the officer in above	100.00	Each	40.00	4000.00
16.2	height 150-165 cm. in big poly bags of size 25 cm as per direction of the officer in charge	100.00	Each	15.00	. 1500.00
16.3	60 cm. in earthen pots of size 25 cm as per direction of the officer-in-charge	100.00	Each	20.00	2000.00
16.4	Providing and stacking of Washingtonia filifea palm stem ht. 90-105 cm with 6-7 healthy leaves lush green leaves well developed in big size HDPE Bags as per direction of the officer-incharge.	100.00	Each	150 00	15000.00
16.5	Providing and stacking of Foxtail palm of ht. 120- 150 cm bottom girth 15- 20 cm well developed in big poly bags of size 25 cm as per direction of the officer-in-charge.	100.00	Each	110,00	11000.00
1,7	Provision of Rose Plant Different Varity in P/Bags:	3 8 8 3 8 8	1 .		
17.1	Providing and Displaying plants Budded Rose (H.T. variety) 3 to 4 healthy branch 30 cm and above ht. well developed with one and above flower plant in 20 cm Earthen Pot, as per direction of the officer-in-charge.	1000.00	Each	15.00	15000.00
17.2	Providing and Displaying of Standard Rose (H.T. variety) 3 to 4 healthy branch 90 cm and above ht. well developed with one and above flowers in 25 cm Earthen Pot, as per direction of the officer-incharge.	100.00	Each	60.00	6000.00
17.3	Providing and stacking of plant Canna dwarf of height 25 to 30 cm., 2 to 3 suckers in earthen pots of size 20 cm Earthen Pot/Plastic Pot and as per direction of the officer-in-charge.	100.00	Each	15,00	1500.00
	Supply of Shrub Plants:				
18.1	Providing and stacking of Beloperone species of height 30-45 cm. in poly bags of size 20 cm as per direction of the officer-in-charge.	100.00	Each	15.00	1500.00

V		•			
3 3	Providing and stacking of Euphorbia pulcherrima (dark red) well branched (poinsettia Red Hegg) of height 60-75 cm. in earthen pots of size 25 cm as per direction of the officer-in-charge.	300.00	Each	16.00	4500.00
18.3	Providing and stacking of Tabernaemontana coronaria (chandni variegated) of height 45-60 cm. with 3-4 branches earthen pots of size 20 cm as per direction of the officer-in-charge.	100.00	Each	<b>(15180)</b>	1500.00
18.4	Providing and stacking of Gardenia jasminoides of height 45-60 cm. with 3-4 branches in earthen pots of size 20 cm as per direction of the officer-incharge.	100.00	Each	()45((b(f))	1500.00
18.5,	Providing and stacking of Dombeya mastersii of height 60-75 cm. with 4-5 branches in bag of size 25 cm as per direction of the officer-in-charge.	200.00	Each	40.00	₹ <b>8</b> 00,0 <b>.</b> 00.
18.6	Carcasana(bronze colour leaves) of height 60-75 cm with 2-3 branches in earthen pots of size 20 cm as per direction of officer-in-charge.	200.00	Each	2(0,00)	6000.00
18.7	Supply and stacking of plant Hibiscus variegated of height 45-60 cm. with 3-4 branches and healthy variegated foliage in earthen pots of size 20 cm as per direction of the officer-in-charge	200.00	Each	10.90	2000.00
18.8	Providing and stacking of Mussaenda erythrophylla (Rosea) of height 60-75 cm multi branched in earthen pots of size 25 cm as per direction of officer-in-charge.	200.00	Each	30.00	6000.00
18.9	Providing and stacking of Excoecaria bicolor of height 45-60 cm. in earthen pots of size 20 cm as per direction of the officer-in-charge	300.00	Each	20.00	6000.00
19	Supply of Ground Cover Plants:		p.t		(4)
19.1	Providing and stacking of Alpinia Variegated (three in one) having ht. 30 cm and above, with fresh and healthy variegated foliage in 25 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	200.00	Each	.60:00	12000.00
19.2	Providing and stacking of Alternanthera species of height 15 cm to 20 cm, full of branches and foliage in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	200.00	Each	8.00	1600.00
19.3	Providing and stacking of Duranta Golden, having ht.15 to 20 cm bushty shape with fresh and healthy leaves in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-incharge.	200.00	Each	8.00	1600.00
19.4	Providing and stacking of Tradescantia zebrina having in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	500.00	Each	8.00	4000.00
19.5	Providing and stacking of Iresine herbstii, of height 20-25 cm. full of branches well developed in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-in-charge.	100.00	Each	10,00	´1000.00
19.6	Providing and stacking of Syngonium miniature dwarf, having height 30-45 cm. with 2-3 suckers healthy foliage in Earthen Pot/Plastic Pot of size 20 cm. as per direction of the officer-in-charge.	100.00	Each	30.00	3000.00
20	Supply of Creepers:		·.		
20.1	Providing and stacking of Quisqualis indicia of height 30 cm to 45 cm. in 20 cm size of Earthen pots / Plastic pots & as per direction of the officer-in-charge.	300.00	Each	15.00	4500.00

n .	Drawit II	*			
200	Providing and stacking of Bignonia venusta				
	Cit Size of Forth 1970 Cit to 45 cm in 20	200.00	Foot		
	Providing and starting and star	200.00	Each	16,00	3000.00
20.3	Providing and stacking of Allamanda violacea of height 30 cm to 45 cm. in poly bag of size 20 cm as per direction of the officer in the				
78 x	as per direction of the officer-in-charge:	200.00	Each	20.00	4000.00
20.4	30 cm to 45 cm is 30		1		
	Plastic pots & as per direction of Earthen pots /	100.00	Each	2(6),0(6)	2000.00
	charge Providing and description of the officer-in-				,
20.5	Providing and stacking Vernonia elaegnifolia (curtain creeper) plant of height 30 cm to 45 cm. in 20 cm size of Farther past (50				
		300.00	Each	15,000	4500.00
	Providing and stacking of Tecoma grandiflora of height 30 cm to 45 cm. in 20 cm size of Earthen	. ,			r'es
	I would both a se her direction at the	300.00	Each	10:00	3000.00
21	J-1				
. 21	Supply of Foliage and Shade loving Plants	s•.			
	Providing and stacking of Aglace				
21.01	Plant, having ht. 30 cm to 45 cm with 8 to 10 leaves, well developed, fresh and healthy in 25 cm size of Farthen pot / Plant				
		200.00	Each	20.00	4000.00
	1 the officer-in-charge.				
	Providing and stacking of Aglaonema modestum plant, having ht. 23 cm to 30 cm with 3 to 4	¥	,		•
21.02	Suckers & 15 to 20 leaves well devoluted from	150.00	Fact		
	June 10 and 1 Disette I	130.00	Each	20,00	3000.00
	pot. & as per direction of the officer-in-charge.  Providing and Displaying Caladium Hybrid variety		The state of the s		
	13 to 4 in a pot well developed with fresh & healthy				
21.03	Tiollage 30 to 45 cm ht. in different colour 25 cm	200.00	Each	15.00	3000.00
	Earthen Pot/Plastic Pot and as per direction of the officer-in-charge.				
	Providing and stacking of Araucaria cookie plant	9			
£ #:	having ht. 60 cm to 75cm, straight, well				1
21.04	developed, fresh and healthy with lush green leaves from bottom to top in 20 cm size of	200.00	Each	100,00	20000.00
	Earthen pot / Plastic pot. & as per direction of the				20000.00
* .	officer-in-charge.				
	Providing and stacking of Areca Palm plant, having ht. 90 cm to 1.20 m with 4 to 5 suckers,	u.		122 8.00	
21.05	well developed, fresh and healthy with lush green	200.00	Each	90.00	
·	foliage in 20 cm size of Earthen pot / Plastic pot &		Lucii	90.00	18000.00
	as per direction of the officer-in-charge.	4.			
	Providing and stacking of Croton Golden specimen plant, having ht. 90 cm to 1.05 cm with	,	!		9
21.06	5 to 6 branches, well developed, fresh and healthy	200.00	Foot		* .
	foliage in 30 cm size of Earthen pot / Plastic pot	200.00	Each	60.00	12000.00
	as per direction of the officer-in-charge.				
,	Providing and stacking of Croton petra Banglore		<b>†</b>		,
21.07	variety plant, having ht 45 cm & above, well developed with fresh and healthy leaves in 20 cm	200.00			,
,	size of Earthen pot / Plastic pot. & as per direction	200.00	Each	55.00	· 11000.00
	of the officer-in-charge.				
· ·	Providing and stacking of Diffenbachia Tropic- snow plant, having ht. 60cm & above with 8 - 10				
21.08	leaves, well developed, fresh & healthy in 25 cm	200.00	Each		
	size of Earthen pot / Plastic pot & as per direction	200.00	Lacii	45.00	9000.00
	of the officer-in-charge.		1	Maria de la	

4	. 4				
21.09	Providing and stacking of Dracaena Song of India plant (three in one), having ht. 30 cm and above, multibranched, well developed with fresh and healthy leaves in 25 cm size of Earthen pot / Plastic pot & as per direction of the officer-incharge.	100.00	Each	A5100	4500.00
21.10	Providing and stacking of Dracaena Song of India variegated plant, having ht. 30 cm to 45 cm, well developed, fresh & healthy foliage with bright leaves in 20 cm size of Earthen pot / Plastic pot & as per direction of the officer-in-charge.	100.00	Each	ંચેકો એક	2000.00
21.11	Providing and stacking of Dracaena victoria plant, having ht. 30 cm & above, well developed with full of leaves, fresh and healthy in 25 cm size of Earthen pot / Plastic pot & as per direction of the officer-in-charge.	100.00	Each	20,00	2000.00
21.12.	Providing and displaying of Dracaena Mahatma having ht. 30 cm to 45 cm with colorful leaves, fresh and healthy in 20 cm size of Earthen pot/Plastic pot & as per direction of the officer-incharge.	200.00	Each	20/010	.∕ <b>4</b> 000.00
21.13	Providing and displaying of Dracaena rosea having ht. 30 cm to 45 & above with 8-10 leaves, well developed, fresh and healthy in 20 cm size of Earthen pot / Plastic pot & as per direction of the officer-in-charge.	200.00	Each	10.00	2000.00
21.14	Providing and displaying of Dracaena warneckii having ht. 30 cm to 45 cm with good colour foliage, well developed, fresh and healthy in 20 cm size of Earthen pot / Plastic pot & as per direction of the officer-in-charge.	200.00	Each	15,00	3000.00
21.15	Providing and displaying of Livistona palm having ht. 30 cm to 45 cm, well developed with 5 to 6 leaves, fresh & healthy foliage in 25 cm size of Earthen pot/Plastic pot as per direction of the officer-in-charge.	100.00	Each	25.00	2500.00
21.16	Providing and displaying of Monestaria mounted on moss stick 90 cm ht., 2 to 3 in one pot well developed with fresh & healthy foliage in 25 cm size of Earthen pot/Plastic pot & as per direction of the officer-in-charge.	200.00	Each	90.00	18000.00
21.17	Providing and stacking of Money Plant Broad Leaves mounted on moss stick 1.20 m ht., 5 to 6 plants in each pot, well developed with full of fresh& healthy leaves in size of 25 cm Top dia x 18 cm Bottom dia x 25 cm Perpendicular height Earthen pot / Plastic pot & as per direction of the officer-in-charge.	200.00	Each	80.00	16000.00
21.18	Providing and stacking of Money Plant Golden leaves mounted on mossstick 90cm ht., having 3 plants at equal distance, well developed with full of fresh, shinning and healthy leaves from bottom to top in 25 cm size of Earthen pot / Plastic pot & as per direction of the officer-in-charge.	100.00	. Each	70.00	7000.00
21.19	Providing and stacking of Philodendron Burgundy plant mounted on moss stick 90 cm ht., well developed with full of fresh & healthy leaves from bottom to top in 25 cm size of Earthen pot / Plastic pot & as per direction of the officer-incharge.	200.00	Each	80,00	16000.00

1 1					
21.20	Providing and displaying of Philodendron Oxicodium plant, mounted on moss stick 90 cm ht., having 3 plants placed at equal distance, well developed with full of fresh & healthy leaves in 25 cm size of Earthen pot /Plastic pot & as per direction of the officer-in-charge.	200.00	Each	25.00	5000.00
21.21	Providing and displaying of Philodendron Oxicodium Golden Colour Mounted on moss stick 90 cm ht., having 3 plants placed at equal distance, well developed with full of fresh & healthy leaves in 25 cm Top dia x 18 cm Bottom dia x 25 cm Perpendicular height Earthen pot / Plastic pot & as per direction of the officer-incharge.	200.00	, Each	30,00	6000.00
21.22	Providing and displaying of Philodendron Ceylon gold having ht. 30cm to 45 cm with 8 to 10 leaves, well developed, fresh & healthy bright colour leaves in 15 cm size of Earthen pot / Plastic pot & as per direction of the officer-in-charge.	200.00	Each	39,00	16000.00
21.23	Providing and displaying of Philodendron Xanadu having 15 to 20 leaves, well developed with full of fresh & healthy leaves in 25 cm Earthen pot / Plastic pot & as per direction of the officer-incharge.	200.00	Each	50.00	10000.00
21.24	Providing and stacking of Phoenix palm plant, having ht. 75 cm to 90 cm with 10 to 15 or more leaves, well developed, fresh and healthy in 25 cm size of Earthen pot / Plastic pot & as per direction of the officer-in-charge.	200.00	Each	100.00	20000.00
21.25	Providing and stacking of Raphis palm plant, having ht. 45 cm to 60 cm with 5 to 7 suckers, well developed, full of fresh and healthy leaves in 25 cm size of Earthen pot / Plastic pot & as per direction of the officer-incharge.	100.00	Each	90.00	900.00
21.26	Providing and Displaying Poinsettia dwarf having upto 25 to 30 cm ht., with 3 to 4 branches with fully different colored top with fresh & healthy foliage well developed in 15 cm Earthen Pot/Plastic Pot and as per direction of the officer-in-charge.	300.00	Each	60:00	18000.00
21.27	Providing and Displaying Cyclamen hybrid variety fresh & healthy in full bloom well developed in 25 cm Earthen Pot/Plastic Pot and as per direction of the officer-in-charge.	200.00	Each	55'00'	11000.00
21.28	Providing and Displaying Tapioca variegated (Manihot esculenta) well developed fresh & healthy 30 to 45 cm ht. in bright colour foliage in 25 cm Earthen Pot/Plaştic Pot and as per direction of the officer-in-charge.	200.00	Each	20.00	4000.00
21.29	Providing and displaying of Croton Baby Golden Punctatum Aureum having ht. 23 cm to 30 cm, well developed with fresh and healthy foliage in 15 cm size of Earthen pot/Plastic pot. as per direction of the officer-in-charge	200.00	. Each	15,00	3000.00
21.30	Providing and stacking of Syngonium Variegated plant, mounted on moss stick 90 cm ht., 3 to 4 plants placed in each pot at equal distance, well developed with full of fresh & healthy leaves from bottom to top in 25 cm size of Earthen pot / Plastic pot & as per direction of the officer-incharge.	200.00	Each	90.00	18000.00 :

y <del></del>	D				• •
21,31	cm of Earthen pot/Plastic pot & as per direction of the office-in-chrage		Each	65000	43000.00
21.32	Providing and Displaying of Rubber variegated, well developed, having 45 to 60 cm ht.with fresh, healthy leaves in 25 cm size Earthen pot/Plastic pot & as per direction of the officer-in-charge.	200.00	Each	3000	6000.00
22	Supply of Ornamentals Plants:			The state has the first the second state	ж.
22.1	Providing and Displaying Bird of paradise well developed with fresh & healthy 90 to 120 cm ht in 30 cm Earthen Pot/ Plastic Pot as per direction of the officer-in-charge.	70.00	Each	(30) (e10) 	4200.00
22.2	Providing and Displaying Cycus revoluta in 35 cm challi, specimen plant, having 30 to 40 with fresh and healthy, leaves having 25cm to 30cm circumfrance of base stem well developed as per direction of the officer-in-charge.	100.00	Each	74700,000	40000.00
22.3	Providing and Displaying Cyprus Golden 30 to 45 cm ht. well developed good Golden colour foliage, Conial Shape in 25 cm Earthen Pots as per direction of the officer-in-charge.	100.00	Each	150:00	15000.00
22.4	Providing and Displaying Adenium Obesum well developed with fresh & healthy 4 to 5 branch 60 to 75 cm ht. in 40 cm size Earthen Pot/ Plastic Pot as per direction of the officer-in-charge.	200.00	Each	1,50.00	30000.00
22.5	Providing and Displaying Zamia palm well developed with fresh & healthy leaves 90 cm ht in 35 cm cement pot as per direction of the officer-incharge	200.00	Each	200.00	40000.00
22.6	Providing and Displaying Ficus reginold well developed fresh & healthy foliage 60 to 75 cm spread 105 to 120 cm ht., Bushy in 35 cm Cement Pot as per direction of the officer-in-charge.	200.00	. Each	150.00	30000.00
23	Provision of Medicinal plants			TO A DEPART OF THE STATE OF	
23.01	Providing and Stacking of Anjeer of height 75-90 cm. in poly bags of size 25 cm as per direction of the officer-in-charge.	50.00	Each	90,00	4500.00
23.02	Providing and Stacking of Ashwagandha of ht. 30cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.	50.00	Each	25:00	1250.00
23.03	Providing and Stacking of Kalmegh of ht. 30cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.	50.00	Each	15,00	750.00
23.04	Providing and Stacking of Sarpgandha well developed in poly bag of size 20cm as per direction of the officer-in-charge.	50.00	Each	15.00	750.00
23.05	Providing and Stacking of Steviea well developed in poly bag of size 20cm as per direction of the officer-in-charge.	500.00	Each	10.00	5000.00
23.06	Providing and Stacking of Brahmi well developed in poly bag of size 20cm as per direction of the officer-in-charge.	100.00	.Each	20.00	2000.00
23.07	Providing and Stacking of Giloy well developed in poly bag of size 20cm as per direction of the officer-in-charge.	100.00	Each	20:00	2000.00
23.08	Providing and Stacking of Aprajita Blue well developed in poly bag of size 20cm as per direction of the officer-in-charge.	200.00	Each 	15.00	3000.00

Providing and Stool		*		
anection of the second some	50.00	Fach		<del>'</del>
Toylding and or		Lacii	20300	1000.00
direction of the age 200 size 20cm as per	50.00	Each	Zoroj)	1000.00
poly bag of size 200ms of Peepli well developed in		·		
Providing and Stacking 4	50.00	Each	3(0)(0(0)	1500.00
as per direction of the officer-in-charge.  Hiring of J.C. B/Hydrouti-	200.00	Each	20,00	4000.00
growth, removal of building rubbish, debris industrial waste and refuse etc. as per direction of	3.00	Day	6,400,00	19500.00
7 · 0.20 (Sunshage).	1000.00	Sqm	20,00	20000.00
	1000.00	Each		20000.00
Supply of Moss Grass at site.	100.00	Per Kg	45,00	4500.00
	200.00	KG	120,00	24000.00
	500.00	KG	120.00	:60000.00
Taritatoci V.		·.		
perpendicular height size 12"(S P) at site	2000.00	Each	28.00	56000.00
dia 25 cm. outer bottom dia 15 cm. 25 cm perpendicular height size 10" (S.P) at site	2000.00	Each	23,00	46000.00
dia 20 cm. outer bottom dia 10 cm. 20 cm perpendicular height size 8" (S.P) at site	1000.00	Each	20.00	20000.00
Supply of Chlorpyriphos 20% F.C. (ISI) as per	30.00	Ltr.	110.00	3300.00
Provision of supply of bonsai tray at site:		2		3
size 08" empty tray	100.00	Each	20.00	2000.00
size 10" empty tray	100.00	Each	22.00	2200.00
size 12" empty tray	100.00	Each	25.00	2500.00
chipping knives 2, chipping capacity 0.5-1 CBM/ Hour, Shredding hammer blades 16, shredding screen holes 25mm, weight 80kg, shredder capacity 1-2 CBM/Hour coupled with 3hp Crompton motor with 30mtr wire (Maruti Makeor	1.00	∴. Each	100000,00	100000.00
Equivalent)				
Figures		<u>.</u>	16	1407120.0
FOOFFOI	driver, fuel and helper etc. for cleaning of wild growth, removal of building rubbish, debris industrial waste and refuse etc. as per direction of Engineer-in-charge.  Supply of best quality Agro shade net green color (50m x 3m) 75:25 (Sunshade).  Supply of Moss Stick ht. 3 feet at site.  Supply of Moss Grass at site.  Supply of polythene bags size 5"x7"(gauge 220) both layer at site  Supply of polythene bags size 6"x8"(gauge 175) both layer at site.  Provision of earthen pots (empty) only for seed bed/nursery:  Supply of empty earthen pots at site. Top inside dia 30 cm, outer bottom dia 20 cm, 30 cm perpendicular height size 12"(S.P) at site.  Supply of empty earthen pots at site. Top inside dia 25 cm. outer bottom dia 15 cm. 25 cm perpendicular height size 10" (S.P) at site.  Supply of empty earthen pots at site. Top inside dia 20 cm. outer bottom dia 10 cm. 20 cm perpendicular height size 8" (S.P) at site.  Supply of Chlorpyriphos 20% E.C (ISI) as per specification at site (Packing in one Ltr.)  Provision of supply of bonsai tray at site:  size 08" empty tray  size 10" empty tray  Supply of Electric Shredder chipping width 30mm, chipping knives 2, chipping capacity 0.5-1 CBM/Hour, Shredding hammer blades 16, shredding screen holes 25mm, weight 80kg, shredder capacity 1-2 CBM/Hour coupled with 3hp	Toylding and Stacking of Bajradanti well direction of the officer-in-charge.  Toylding and Stacking of Peepli well developed in poly bag of size 20cm as per providing and Stacking of Peepli well developed in poly bag of size 20cm as per direction of the officer-in-charge.  Providing and Stacking of Lemon grass of ht. 30 cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.  Providing and Stacking of Lemon grass of ht. 30 cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.  Hiring of J.C.B/Hydraulic excavator (3-D) with driver, fuel and helper etc. for cleaning of wild growth, removal of building rubbish, debris industrial waste and refuse etc. as per direction of Engineer-in-charge.  Supply of best quality Agro shade net green color (50m x 3m) 75:25 (Sunshade).  Supply of Moss Grass at site.  Supply of Moss Grass at site.  Supply of polythene bags size 5"x7"(gauge 220)  both layer at site  Supply of polythene bags size 6"x8"(gauge 175)  both layer at site.  Supply of polythene bags size 6"x8"(gauge 175)  both layer at site.  Provision of earthen pots (empty) only for seed bed/nursery:  Supply of empty earthen pots at site. Top inside dia 30 cm, outer bottom dia 20 cm, 30 cm perpendicular height size 12"(S.P) at site.  Supply of empty earthen pots at site. Top inside dia 25 cm. outer bottom dia 15 cm. 25 cm perpendicular height size 10" (S.P) at site.  Supply of Chlorpyriphos 20% E.C. (ISI) as per specification at site (Packing in one Ltr.)  Provision of supply of bonsai tray at site:  size 08" empty tray  100.00  Supply of Electric Shredder chipping width 30mm, chipping knives 2, chipping capacity 0.5-1 CBM/ Hour, Shredding hammer blades 16, shredding screen holes 25mm, weight 80kg, shredder capacity 1-2 CBM/Hour coupled with 3hp	Facultion of the officer-in-charge.  Toroviding and Stacking of Bajradanti well direction of the officer-in-charge.  Providing and Stacking of Peepli well developed in poly bag of size 20cm as per Providing and Stacking of Peepli well developed in poly bag of size 20cm as per direction of the officer-in-charge.  Providing and Stacking of Lemon grass of ht. 30 cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.  Providing and Stacking of Lemon grass of ht. 30 cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.  Hiring of J.C. B/Hydraulic excavator (3-D) with driver, fuel and helper etc. for cleaning of wild growth, removal of building rubbish, debris industrial waste and refuse etc. as per direction of Engineer-in-charge.  Supply of best quality Agro shade net green color (50m x 3m) 75:25 (Sunshade).  Supply of Moss Grass at site.  Supply of Moss Grass at site.  Supply of polythene bags size 5"x7"(gauge 220)  both layer at site  Supply of polythene bags size 6"x8"(gauge 175)  both layer at site.  Provision of earthen pots (empty) only for seed bed/nursery:  Supply of empty earthen pots at site. Top inside dia 30 cm, outer bottom dia 20 cm, 30 cm perpendicular height size 12"(S.P) at site.  Supply of empty earthen pots at site. Top inside dia 25 cm. outer bottom dia 15 cm. 25 cm perpendicular height size 10" (S.P) at site.  Supply of empty earthen pots at site. Top inside dia 20 cm, outer bottom dia 10 cm. 20 cm perpendicular height size 10" (S.P) at site.  Supply of Chlorpyriphos 20% E.C (IS)) as per specification at site (Packing in one Ltr.)  Provision of supply of bonsal tray at site:  size 08" empty tray  100.00 Each  Supply of Electric Shredder chipping width 30mm, chipping knives 2, chipping capacity 0.5-1 CBM/Hour, Shredding hammer blades 16, shredding screen holes 25mm, weight 80kg, shredder capacity 1-2 CBM/Hour coupled with 3hp	Troviding and Stacking of Bajradanti well direction of the officer-in-charge.  Foroviding and Stacking of Peepli well developed in poly bag of size 20cm as per providing and Stacking of Peepli well developed in poly bag of size 20cm as per direction of the officer-in-charge.  Froviding and Stacking of Lemon grass of ht. 30 cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.  Froviding and Stacking of Lemon grass of ht. 30 cm with multi branches in Poly bag of size 20 cm. as per direction of the officer-in-charge.  Filing of J.C. B/Hydraulic excavator (3-D) with driver, fuel and helper etc. for cleaning of wild growth, removal of building rubbish, debris industrial waste and refuse etc. as per direction of Engineer-in-charge.  Supply of best quality Agro shade net green color (50 m x 3m) 75:25 (Sunshade).  Supply of Moss Stick ht. 3 feet at site.  Supply of Moss Grass at site.  Supply of polythene bags size 5"x7"(gauge 220)  both layer at site.  Supply of polythene bags size 6"x8"(gauge 175)  both layer at site.  Frovision of earthen pots (empty) only for seed bed/nursery:  Supply of empty earthen pots at site. Top inside dia 30 cm, outer bottom dia 20 cm, 30 cm perpendicular height size 12" (S.P) at site.  Supply of empty earthen pots at site. Top inside dia 20 cm. outer bottom dia 15 cm. 25 cm perpendicular height size 10" (S.P) at site.  Supply of empty earthen pots at site. Top inside dia 20 cm. outer bottom dia 10 cm. 20 cm perpendicular height size 8" (S.P) at site.  Supply of Chloryriphos 20% E.C. (ISI) as per specification at site (Packing in one Ltr.)  Provision of supply of bonsai tray at site:  size 08" empty tray  100.00 Each 22.00  Supply of Chloryriphos 20% E.C. (ISI) as per specification at site (Packing in one Ltr.)  Provision of supply tray  100.00 Each 22.00  Supply of Chloryriphos 20% E.C. (ISI) as per specification at site (Packing in one Ltr.)  Provision of supply tray  100.00 Each 22.00  Supply of Chloryriphos 20 child supply of Electric Shriedder ch

उप-निदेशक (उद्यान) उद्यान-खण्ड-3, दिल्ली विकास प्राधिकरण।